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Spatement:  No man is a domkey. Ralul is a man

1. Rahul iz not a donkey.
1. Allmen are midt Rahul
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A} Only Conclusion 1

1
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B) Meither Conclusion |

follow. nor Conclusion IT follow.
Fao sy 1 A ar s | A
Heer # | £ 1 F e # |
C) Only Conclusion [ D) Either Conclusion | or
follow. Conclusion 11 follow,
F9d vy | RFaa el 1 O 0 Awear
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Question Nos.2 to 4
T FEIT2 # 4 aF
ons / A& Find the odd number / fetters /

from the given altemnatives.
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3)
Al sl B)is
c) 1o D)ise
4)
A) Y218 B)ORTW
C) KNG D) DEG)
Question Nos.5 toB —
VH S S #6 aw B

Directions / & Select the related word £ .-
number from the given altermatives, Rl

B aw fAmeal A & #F U ez wwty

gl i=
5)  ADIP:DGLS = BEJQ : 2 Re:
A)FINU B) EHMT -
C)CGLS D) EIQU \
B} BiSlZaGzd
A) 729 B) 781
C) 792 D) 728
7) AUTHOR:PEN:DOCTOR:
ﬁ@ﬁ H qﬂ- (= Euﬂﬂi Z_
A) DISPENSARY B) WARD
swarey ars ;
C)STETHOSCOPE DJHOSPITAL
8) POLITE : ETILOP = 3
A)SINGLE : ELGNIS B) WOMEN - WON
C)CHART : TRACH D) DRAOB : BR
9) A man facing south turns to his left and w

anl:lwalkfrmmldﬂmnheumtn s
In which direction he is facing now? g
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A) West

ElEGr: s
C) North -
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10)
A)Mnp gt I | e
CIMPO D) Mo

M 2.510,17,26.9
A)13 B)35
C)37 D)

12) I 8 mirror i Placed on the line MN, then which of the
answer fgures is ihe rght image of the Eiven figyre 2

AR e Ertor & My Ty SCTTN ST Y & 78 3eere

The age of father is twice that of the elder son., Afler ten
years; the age of fuber will he three times that af the

HEgTaat it & Fls-3ft HTBT 5 miﬁﬂﬁ younger son. If the difference of ages of the two sons is
oiafars Erafr 15 years, the age of the fEtheris 7
Question Figure /Y9 3refr Toar #r g e TWAFEE |emad e o iy sy
T 9T & gt 2 sy |uﬁ:a’mﬁgﬂﬁmms
aﬁwmﬁmﬁmﬁmmh
A} 35 years B) 70 vears
55 % T0a%
- C) 60 vears D) 50 years
Answer Figures / wav sfivaf b0 T 50 a9

16) Find the number of triangles in the adjoining figure.

HeTTH HGT 3 Pt Y e S

Question Figure / W9 amgfy

- E | &
ey
A) B) C)

13) Which one of the following diagrams represents the = ¥
relationship among:
Fruits, Mango. Banana
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| Intolligence & Reasoning AR2017--4609162 e
the given alternative words, sclect the wurd which| 18)  From the given answer fizures. e

i '.l]mﬁ'ﬁrmm&ﬁmuf&:gmwﬂ question figure i hidden / -
TR e et # & oy wre 2fw o e o awse ﬂ'ﬂmmﬁmm_.- o
3 T & ST a0 e ST AT | T e g B
NS Question Figare / ¥ smgfy 3
A)TURN B) TRUE e .

C)RENT D) RATE Y7

18) A wuord is ropresented by only anc set of numbers as given
m any one of the aliernatives. The sets of numbers given -

in the alternotives arc represented by two classes of Answer Figures | 3= sraf]

alphabets as in two matrices given below. The columns A\

and rows of Matrix | are numbered from 0 to 4 and thas S B i
of Matrix 1T are numbered fram 5 0.9, A letter frum these ] "K == \ /"
mﬁmmh:mpfc&mtedﬂmhyilsmwmdnmhyhs u
column, ¢.g., 'A’ can be represented by 00,44, ctc., and P > A
can be represented by 56,79 etc. Similarly, you have o A) B) C) “-' —

identity the set for the word ZEST.
T e Fad v VEm-AAg samr e e &, 3y | 20) Which answer figure will complete the py

P et 2 8 el e 2% P arar By Pt 1 Er:";g;ﬁmm#m"
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TAFH FEAT 8T &3040 F T & | e F 30, o
'ATRE 00,44, 30T EATH eT T AwAT E A e Answer Figures | vor sl :
56,79, 3T g axiar o @A € | s ewE I | (N o % 7 7
W A T e ZEST & AT w1 wgareen & 5 0 0
Fx
proceinfl ok -1 A) 8) g D)
0 :iii; 3 é : : :,;__ 21) Whichmnfh;iv:::mmﬂhl"_;
1| T|H|S[E[R]| [6[X[WIZINM|G order of the following?
Z|R[E|H|D T F|T|K[X[P] I. Family 2. Commumity 3. Member
a[s|pjT|O|C| [S[G|N[F|L]W 4, Locality 5. Country
J[E[B|O|R[A] [?|N[P[X]|Z[L
o et & & haar e A4 2l
A)89, 31, 30,01 B) 98, 13, 30, 10 wiE FH e
C)&9, 13,03, 01 D) 98, 13, 33, 04 ISRER 2@ 3 EeEr f
4. HEET  S.AW
A31254 B)3.1.24,
C)3.1425 L ENEES
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h _miﬂfnsm of ot was T253 when 15% fjimrlurﬂ
" e allowed. Then the marked price of the radio was

o YT Ry s 1 5%, O & B T 3255 7, ot

W o R T an
- AT 400 B)T 278
' €)% 300 D)T 350

Each side of a square is increased by 1V % The

perCEntage meTense of s are) i3 :
U I S G S |0 @ A B ol AT

ST A e wiava g e

A 2i B)127

) D20
Question Nos.28 to 29
T FEIT 28 F29F%

|Directions / B1&¥r: The pie- disgram shows the

expenditure incurred on the printing of & book by &
ipublisher. undervanious heads. Study the pie-diagrar
and answar the guesiions.

B=RET wEgE F g gan §eow FHAUT
Bifmr ahaf & vla v arv a t geitar aram
T TE T G A 5 # I 4 |

28) If the expenditure incurred on the printing under head A is
F5000/-. Then the sum of expenditure incurred under head
B and [ s:
I A ofrd & el JeoT o T5000- = =5y By

& g ofrd B 3t 0 & 3ehe &9 A 7S 0 Ay

g’
A)T 5780 B)¥ 7850
C)T 8570 D)T 8750

503

29)

30)

an

i2)

33)

L™

The 1w 8% penilitures, which w
af 1080 ot ihe cenire are ; M

et 2 2 o AT 108 S e
AYA & _!]ﬁ'&ﬁ:-f
cR&E DjA&

A contractor has the et ormm“ -

days, He employed 20 persons whi ¢
e wirk i 10 diuys and lefl The mumkh

has 1o employ o fimish the mnh‘ 1
o BT T 40 T # F0 q a

o) EarTEeTat & wH T w10 R
FAAIT 4 FH SR & R R e
T IF AT BT e
A)40
C)3d

i

e A RRESEES

B) 10
D) 20

By selling a coat for T630, u shopkecper gaing S1e
the cost price of the'coat 7 Rkl

U gETeg &1 T 630 £—"
g & | e T Hed A |
B} ahn
DT 650

AT 700
C)¥ 625
Fany's income is TI00 more than thiy of

average income of Ram and Shyam is T850, then |
income is: ]

T T 3T T A R 2100 £
3T am & e e T850 AT TE A

g-‘_l
AT Bo0 B)? 800
C)T &0 D)2 475

F‘.,Q:de{:andnnpicmn{'wmkinﬂ”

and 80 days respectively. They together
work and receive T 2256.Then P will get?

P, Q 3 R Tl ey = w60 TR,
et 3 U H B A T U AR
A T & W T 2256 A A 8, Al F
AT &1 9
A)? 576
C)T 752

BTS6
D)3 960



36)

37)

38)

part B

p invests TH00 for 3 ;
) months and R T8190 "';*m
ol pr-‘rl't! AMHMHIE fo T '“'53' ]
T

i mm
1¥ﬁ¥m¢ﬂpgmtmﬂl should
Q2

26525 3R S 718 & e 29100 Q2o s v

AT 68250

B)? 14650
D)2 6oz
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35) in o collee, TSP of the ol 1
i £ gitls and *fgn of the boys
ook

i 1A social camp, The total :
o ":L':__',l:.‘ ook part i the camp is.-: rmber “fm in the

Araft Fera A s et 3 Vg wsat d v

sraaE R A 5 v SR s et ot
= =ifaT & s e

40)

A) =

T
12>

C) 13
KTy

B)13
S0
D)2
13
The unit's digit of the number 675 - 438§ -
HEaT 674 - 4756 T gfRE e SR
A)l B)7
C)4 D)0

41)

The radius of a sphere is doubled. The percentage of
increase in its surface area 157

o T Y T g S A e & | 36 T
# gie 7 uiawe = s

A)400

85

B) 300
C) 100 D) 75 |
; .| &2
ich greatest is 16 18
The average of three numbers of whic 10
12. If the smallest is half of the greatest , the remaiming

number 15:

v s o e aed AR w16 & e 2%
a7 s T wE e A e g A W Fen
i
A)§
c)12

B) 10
D) 14

spent T 280 on transn

PAise per ream and paid € 72 wa B of %0
mhmmmhmﬂ”wﬂ; T 10 gain

TR e A ¢ g0 of Fow @ o 120 R

W | 3R gard v € 2s0 W e 40 SR TRATA D
AR Mg 2R @meew

ST ST W B TR R P v Pt wa A
m;}m‘?
A)T 59
C)2 %0

B)T &s
D) 5715

A box contains one nipee, fifty-paise and twenty-five
paise comms. The total number of coins are 378, The ratio
of values of the above coins is 13 1 11 : 7. The number of
twenty-five paise coins was:

wEEy A s v R AR s 6 SRS E
o R e wew 18 ) T e S
FASE 13211 7 o S & Tem R aem

e
A)7s B) 168
C)210 Dy132

The price of a bicyole is marked by a trader a1 ¥ 1000. He
sold the bicycle allowing successive discounts of  20%.
10% and 5%. Thus the trader gained 14% then the cost
price of bicyele (in rupees) is:

T AT O TRt HEu 11000 ¥ R HER
T O 20, 10% FR S R R e de IR AT
BT | 3 TR 30 W A 4% T T
ST T S A e (B A

A) 720 B)al0

Djsio

percentage inuse of

Rt BT z:nnﬁgnﬁﬂm
& T T £ R S A
A)IS
c)20




o covers a certaln disties
40 Km/ hour. If he has 10 cover |
‘hours, then his speed must be: ’
afe i sufie 40 Prette wfamer
e B o @ ot A o e A T I E

Frofea & wsT
oy 38

B) 70 Kim [ hour
70 Fafr wfey o2
D) 60 Km / hour
60 farah o 0er

A) 80 K / hour
80 fard ufdy wer

C) 50 Km / hour
S0 R s wfa e

average speediKm/hour) for the entire distance 7

U ST &+ aENT 80 fretHeT wia ger & afd @
600 TaTHIE, Srrar & 30 Rrsittey sfawer i a1fa &
600 Fsetee, fawmer ganT 400 Bratater wfawer
T & 500 Frateer 3tk @ zamy 60 freAT
WICTERET 1 317 & 300 Rreiafe o arar &7 & | 5
ATHT A IFAT A aifer fnastt (raites i gen)

grafr ¢

Alga 7 B)sg 7
27 27

Clss7 D) 63
27

45) A dealer marks his goods 20 % above cost price. He then
allows some discount on it and makes a profit of § %. The
rate of discount is:

U fadhdr 3= HIHIA U d0E H{e g & 20% HEw
AT T L ¢ | T 78 39 W I ae & £ 3R
8% T SIH FATT o | T H T F47 grfe
A) 129 B)10%
C)6% D) 4%
46) A two wheeler depreciates at 20 % of its value every year.

If present value of the same be 390000, its depreciated
value would be T36864 after:

U QRN F1 070 7 20% Heq 1 8 e | 7
SHEH! T HE I90000 & 1 3 7o G170 Aoy

___AR2017-4
i 0 hours, {F travels at
he game disance in 4

4 i gl ey i Ry 7T R @ SR

44) A man travels 600 Km by train a1 80 Km/hour, 600 hr:l
by ship at 30 Km/hour, 500 Km by acroplane at 40
Kni/hour and 300 Km by car at 60 Km/hour. What 15 the

T36864 e a9 &1e g ?
A)3 years B) 3 vears
3av 5ay
, aciﬁm D)4 vears
- 6ad 489
[ S

1

47)

48)

49)

50)

P in
Ak

ratio of the areas of two squ
Eziwmul than the ather a2 S

2y apatf d FAP 3 T 37 ool g 5
o &, ST W T Wy

Bj2:q |
D)3y

A3 z
c4:l
A man retired from his service at the age o gn .

for 5" years of his relirement age. He i

the age of 1 )

e safEd 60 ﬂﬁm#ﬂlﬂﬁm

danfafeer 3% & s 3 Rav Ay 3y

At B g # ow A i

A) 20 years B)in years '
2074 36 3% -

C) 18 years D) 24 vears i
18 a% 24 g

A sum was doubled with 121/2 % rate of sin
per annum. Then time taken for that sum is;
Frs afir 12112 % $r aifds aremer s g

ST A S O R R R .

Ad b4
A}lliycarsfﬂﬁ E}!;lyem.;ﬁﬁ_'ﬁ, *
2 .
Clg years / @4 D)1 years | @

Two varicties of sugar are mixed together
ratio. The cost of the mixture per Kg is 0.
that of the superior and T 0.75 more than
variety. The ratio in which the superior

varieties of sugar have been mixed is:

¥ 1 &Y TREt Bl st v 6
ST §] T ST K amerer et anife 4 el
S H 20,50 F & 3 afear i frama
HUF ¢ | 3= e A et i ofem

e 31T # e T
A)5:2 B)5:1
C)2:3 D)3:2



Part C :General English
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Question Nos.51 to 53

Directions : Out of the four aitamati
one which beast exp i ohioose the

oresses the m :
woard 8aning of the given

—

51)  Innocent

A) Bins

C} Guiltess

B) Offence
D) Guily
52) Abhorrent

A) Irregularity B) Uncomman

C) Admirable D) Repugnant

53) S!.‘t[immr).'

A) Mowing
C) Fixed

B) Writing accessories

D) Computer accessories

Question Nos.54 to 63
Directions : Sentences qiven with blank to be filled
in with appropriate word(s). Four alternatives are
suggested for each question, Choose the most
appropriate alternative out of the four and indicate it
by blackening the corresponding circle in the
Answer Sheet.

54) They were worried about a new cult which
many Tollowers.

A) were gaining B)is gaining
C) was gaining D) must be gaining
55) Anna is not popular. She has friends.
A)lew B)a little
C)a few D) little
56) Hemust  the loans.
A) repeal B)repeat
C) receipt D) repay

57) The actor died when his car turned -

B) tiger
D) turtle

A) tortoise

C)across

d not
58) Since she is a teacher of language, one would n

expect her to be guiltyofa -
A) bombast B) stanchion

C)schism D) solecism

A) preseribing B) proscribing
C) prosecuting D) executing
60) A man is known — the company he keeps.
A)al B)in
C) for D) by

61) Sally parked and got __ the car quickly

A)on B)in

C)over D) oul of
62) The convict was on a Monday,

A) hanged B} hang

C)hung D} hanging

63) she can't drive, Anita has bought a car.

A) Whether or not
C) Since

B) Even thiwgh
D) Even if

Question Nos.64 to 66
Directions ! Qut of the four altermatives, choose the
one which best expresses the meaning opposite to
the given word.

64) Polite
A} rude B) rash
C) tough D) rough
65) Methodical
A) flurry B) crazy
C) orderly D) random
66) Authentic
A) futile B) honest
C) fake D) frank
Question Nos.67 to72
Directions : Four words are given, out of w
one word is correctly spelt. Find the
word. j
67)
A) municipal
C)muneciple




__AR201T

A) exhelerate B) exhilarate
. D) exhiletate
C) exelerite
69)
A} hiraas B) harrass
C)haruss D) harras
70)
I A)license B} licanse
| ! C) lisense D) liscense
7
» )
-. q A) jurnale B} jornale
3 C)jormal D} journal
72)
A)seperate B) saperate
c} -'I"-'Pli!'ﬂl{ D] quﬂrfh:

Question Nos.73 to 77

Directions : Read the following passage carefully

and choose the most appropriate answer to gach

question out of the four alfernatives.

Passage
At times there was something inhuman about Mr. Rogers,
the Headmaster. His formidable chin fitted out in the
most formidable way, and he seemed to be always
frowning at the world in general. At the assem hly he was
like an inspecting officer in the army; he surveved the
gathered innocents with his crinkled eyes, and then began
his list of morning rebukes. Any hapless offender, for the
most venial offence, would be commanded to appear
before his presence in front of the gathered ranks, and
would then be subjected to a tirade of abuse that would
leave him trembling or even in tears, Mr. Rogers was
ruthless and cruel in public. "A dehydrated old sadist”
was how Mr. Jones, the chemistry master described him.
The extraordinary thing was that in private he could
be magnanimous and gentle. Any boy who was really in
le would receive a sympathetic hearing, and went
feeling that the burden had been lightened.

73) Another word for ‘magnanimous' is -

B) magnificient
D) high handed

A)arrogant
C) generous
74) "in 3 most intimidating way" means.

A) in a very helpless way B)in an extremely intimate
manmner
C)in a very fowl way D)in an extremely
¥ frightening manner

). |

b )

T M L

60916 . i i' o all
75) What best describes Mr o ot e
assembly? I" Y
A) a formidable teacher B) ruthless and Crivg)
C)u sensitive army officer  D)a genial persoy

76) What happened to boys who visited him in g

A) They scemed relieved of - B) They came ot "

their troubles. and in tears

C) They echoed the D) "'Iﬂ}[ looked even mgpe
sentiments of the staff worried than befug,
members. -

77) The staff considered Mr Rogers to be
A)a person without any B)a gentle and i
scruples understanding person .
C)an intimidating person D) a person 1o be idolized :

Question Nos.78 to 82
Directions : Out of the four altematives, choose the
one which can most appropriately substitute the
given word(s) or sentence.

78)  All in a mess.

A) disturbing B) disarranged
C) negligence D) distracting
79) A number of people listening to a concert or lecture,
A) group B) audience :
C) tribe D) spectator
80) In a primitive or uncivilized state.
A) suvage B)rural
C)village D)olden .
81) One who believes in God, .1
A) believer B)worshipper ;ﬁ
C) pilgrim D) theist ' 4
82) Happening every year. 'E
A)timely B) annually |
C) season D) routine
Question Nos.83 to 87

Directions : A sentence or a part of the sentence is |
underiined. Below are given alternatives to the

underlined part which may improve the sentence..
Chooss the comrect alternative. In case no
improvement is needed choose “No Im




part C :General English

83) Every person as not fitted for everything.

A) No improvement

B} is nunt fit for
C)is not it at D) was not it a

B4) X'—"'rl"'-'r-m.d_‘-'ﬁ'ﬂ,ﬂinm heip.

A) parties deserved B) parties
deserve
AT ;
C) party deserves D) No improvement

85) How long I shall stay is doubtfy].

A) | can stny i
L B) No improvemen

C) I will stay D) I want i stay
86) Lwven at the peak of her suops

forzet her home or her dit
Y towards other human, this i<

evident from the fact thar she distribuged ation
girls in fndia. ‘ : sucation of

A) she contributed pirls for
education.

53, Kalpana Chawla dig not

B) she contribute 1o
education of girls,

C) No improvement. D) she contributed 1 the

education of girls.

§7) The doctor scribbled his preseription ‘which | could not
make out

A) make over B) make up
C) No improvement D) make for
| Question Nos.88 to 97

\Directions : Some part of the sentences may have
|errors and some are correct. Find out which part of
|:-‘=-'.' senfence has an error and blacken the circle
comrasponding to the approprate correct option. If a
|sentence is free from error, blacken the circle
JJ. orresponding to “No Error” option in the Answer
Sheet

88) It is a most beautiful painting in the gallery.

B) It is 4 most

D) in the gallery.

A) No errar

C) beautiful painting

89) Kindly submit your documents to the elerk.
A) Kindly submit B) your documents
C) 1o the clerk. D) No error
30) | am thinking 1 will go to the market later this
afternoon.
A) No error B)  will go to the market

C) later this afternoon
91) This sponge is not able to absorbing Wit

A) not able to B) No:ee

C) absorbing water.

—AR2017-.4609162 _

> O 3 ST s !
He has not PRI s
e been attending English classes fop e
A) No ermyr B} for one wicek
C) English ¢lusses D) He has not been
attending
83) Tam too much leased to k /
sy P o know that you have topped
A} No error

94)

95) Have you been doing what has been asks of vou?

96) He is not what vou would call an honest man,doesn't

97) We rejoiced at his being promoted.

B) 1 am too much pleased

€) to know that D) you have wpped the list
Love for ours environment is enough to protect
nature.

A) Love for B) Mo error

C) ours environment D} is enough (o protect

natuge,

A) Mo crror B) what has been nsks of
vou?
C) been doing D) Have you

he?

A) No error B) vou would call an honest
man

C) doesn't he? D) He is nol what

A) No error B) We rejoiced
C)at his D) bt pronioted; ‘
Question Nos.98 to 100

Directions ! Four alfematives are given for the |
Idiom / Phrase underined in the senfence. Choose
the alternative which best expresses the meaning of
the Idiom / Phrass.

99) Joe can be a loose canon sometimes.

o s i

98) The presentation by the group at the meeting passes

musier.

A\) fails to impress, B) achicves to impress.

A) one who speaks without E]HIF
'Lhiﬂk]ng- 1 iu!:_

C) one who acts crazy.




ﬂﬂ:ﬂm"m
M

11 Whe hat been elected ag

United MNations ¥

ﬂﬁwﬁmmmmmm

Pa

A) Antonio Guterms B) Ban
Ki-moon
C)Juan Manuel Santas ﬁll-l'.' i i
Wit Hamil
FIE AGHT Fehy Eisd #ﬁﬂl:‘

102} In the Panchayat Raj
constituled at the:

HTaET U ST & "ﬁﬂmaﬂ‘ﬁiﬁraﬂmﬁm
FESERETRE i i 1 )

System, “he Panchayat Sumige is

A) State level B) District level
T FR S E s
C) Block level D) Village level
e W TH =7

103) Which one of the following pases released from bio-gas

plunt is used as a fel pus ?

sl T @A A P Ry o e i
w1 uater $ue 9 & ¥ & By smaEr 17

A) Propane B) Ethane
g ERE
C) Butane D) Methane

104) Which one of the following is not eorrectly matched?
Erfafa # @ g 58 A9 a8 B = 57

B) Manganese - Koraput

C)lron-ore - Kudremukh D) Coal - Singreni

A)Copper - Khetri

106) A sysiem program designed 1 i the progmmm

107) The number of players in a Futsal team is

firnding and correcting . ;
st A At ﬁ&mﬁm;::;hh:;:mm
e e e s v sy :
A)Quarantiner B) Corrector

TR T
C) Evaluator D) Debugger

e i

TEE An A e e fim &

A)s B)6
C)o D)
108) Excretory omgan of cockroch is:
PIFAT T ATl 39T 41 @al &2
A) Kidney B) Malpighian wbules
= Hadreh A
C) Malpighian Corpuscles: D) Nephnidia
AN IO &
108) The teeth lacking in Herbivorous animals is:
e HEN ST A FlF-A g A R EE E
A} Canine B} Molar
&+ U (E1E)
C) Premolar D) Incissor
Hirgavis B
110) Element that s not found in blood 15
Tl A 18T e AR T e
A)iron B)copper
T S |
C) chromium D) magnesium
HfaTs Enciitions
111) The maximum number of Mongol invasions ok place
during the reign of :

i ins 1 tion
105) Which table in an operaling system contains informatio

about all the open files? :
SR R A R e 3 W e et
T et tabl
Al [
A) open table ) opea-locatet e
HI9e eEd '-'.'.-‘ubl e
C) open-file table mwta;
- IS CaoT -

STy TS AT R A el A 32

A) Muhammad bin Tughlug B) Alauddin Khilji
g O e Ferae s

D) Firoz Tughlug

C) Balban
RS e

ECED




s Rio

won  hreorc at

"a m ﬁlu;h n];I;:lL r:.:nutcd with which spons: s
2016 ft.ai‘r Aqifew A A HETEE et Tt
R R da & @wg
A) Short Put B) Ha-dn.umnn

é ¢ dufies
Ot i

ics hos recently launched the

h of the following | :
i unhity meals to

Annapuma Rasol Yaina for providing g
o
weakvr sections al subsidised rates

BT & 2w TS & SAAR 3 B
aRar sreE R g0 W IuEen &ua & AT
o 3 el TEE WS uF A 87

B)Madhya Pradesh

113)

A) Uttar Pradish

, I we e geI
C) West Bengal D) Rajasthan
giFaw e T2

114) Milkiness observed on passing carbon diexide through
fime wuler = due to'the formation of

AT OIHT A Flde- SIS HTFASS & i 91 GIteT

Fereh &9 3 feaTs gen a7

A) Calonum carbonate B) Caleium bicarbonate
S wElae FicwgH as-FEe

C) Calcium hydroxide D) Calcium chioride

FvmAEEseaEE Sfevww Fonse

115) Which was the instrument that was played bv Ustad

Bismillah Khan?
SEIE RFAeAE @ @ 6 Ay s i
A)Sznipor B) Flute
i 5
fe) ey D) Sitar

s e

16) Participation is an important element of every :

ST fstren srgeaqu ey i

A) Munlan:hiur sysiem B) Anstocratie SY¥stem
e e &5
C) Democrati
) _ﬂm‘am: system Dj« Migarchica] system
gy

§
=y

117) The Modi Govemment at
AYOHG by replacing which

'

A) Planning Commission @y '

aYFAT 3
C) Agricultural Price
Comimitssion
F HFT 3ranT
118) For Commercial Banks lenditg ghe
denotes:
arfreas & car U 2 ey
s sRaEs &7
A)Small farmers g“m
ﬁ
C) Small industrialists mww
CLEERE EE AL = S
119) The lens of the eve is behind the:
A) Vitreous human B) Retina
C) Optic nerve D) Pupil
120) Poventy in El:idlﬂsmww one of the fo
criteria ;
AT T ST &
A) number of family
members residence
TR TS HeEdt A EEET S
HEar
C) ;duaaumleﬂﬂf&e D) intake of the
amily Farr T
AR e TR

121) The Attorney ﬁmmﬂmﬁ-w th
HIE & FreTalt Stercar 3

C) Prime Minister
YA



part 2 e
ich memory is both statie ang
422) Whi and tnon-volatile 7
et T AATD EAT I Reew it ey
A) CACHE BjHiOg
G)ROM D) RAM
who among the following il .
123) ymritsar? it the Golden Temple w
e AT 7 8 HE It T
31
A) Guru & whind Singh E} Guru Th
sl ¢g Bahadur
J_}.'{' H‘Iﬁﬁ ﬁﬁ’f W ﬁﬁrw
¢) Guru Arjun Dy D) Guru Nanak
I Hole ad IE AF

124) The aim of the Antyodaya Programme is
FET EUshA & WED T §7 '

A) Uplifting minorities B) Elimi.haﬁmg it
WeUEETS HT IcYey  Poverty

AL ITET N S

C) Helping the poorest D) Improving the standards

imong the poor of scheduled castes

ThEr & o wEw e dEEEw oo &
Sl T WErEdr el T A gER

125) Microsoft Excel is a

A) MS Office Package B) Electronic Spreadsheet
MS 3ifee Sehet i TisE
C) Graphics Package D) Fmancml Planning
Package
iRy Yehet L3

126) Who decides about the size and m

(Council of ministers? |
ARATYe & AR U e 35 ey T i

Il 87 _
A) Prime Minister E}L!_}kﬁﬂ_b]_m
C) President D) Chairman of the Ra

127) 1o enrth wmosphere, which

embership of the

W -
of the following comtinuonsly

decreases with height?

Y i AT 3, TR 3 & et s g

& wra-arer ey 3 sy i

A) Humidity B} Pressure
e &

C) Wind velocity D) Temperature
Tl AT ArTALA

12B) Pillured halls where the Buddhist monks worshipped were
known as;

I FAHE HAwAT @) FUT Tl & ToAed atg THE] Tt
Fel A?

A) Chaityas B) Stupas
pr I
C) Viharas D) Mathas
R wa
129) Under the Constitution of India who are the ultimate
sovereipn 7
HITH & GiauTe & 3aeie 0 a9 i 87
A) Prime Minister of India.  B) President of Tdia.
AT & WA I % Tegdie
C) Indian People. D) All elected leaders of
AT Sl India.
wRd & ol Wt
e
130) Which of the following is a semiconductor :
TR TE & & 41 D o7
A)silicon B) glass
Eiccac g
C)silver D) copper
et GEl




. B A Jelimited arcd
A)A complex of : pi
#;.mmﬂﬂ‘il'
:_-hnmmml_ by
distipetive climale
vegelation :
cyfirse FOATS o
Fpl
: - D) A group of plants
c}r’] ;D”cghﬁi‘:;rlﬂzm : growing in 4 particular
plants | grov
c'ﬂﬁlr 3 ' Frgfy RTRSE &1 #
FrE-FgH FHIE 2 EniC

RS s i s
132) Govind Ballabh Pant Sagar reservoir 18 situated 1

P e e AR R e e 6

A) Uttar Pradesh. B) Utarakhand
I 98Y IS
C) Chhattisgarh D}.Ihgr!».h:mn;i
Bl 1a9G FRES
133) Sun Yat Sen was the leader of:
o7 T BT e e 47
A)C P C Party B) Boxer Revolt
CPC ié et felw
C) Taiping Rebellion D)KM T Party
g &R K M Taref
134) The toxic metal associated with the Minamata episode is:
HTATT BEAT § FieA-8 T OTd Fo Y
A) arsenic B) lead
H BT (73)
C) cadmium D) mercury
F=hgw e
135) An example of a solution of liquid in solid is-
AT & Ragaa SETRROT T &7
i B) rubber
Loe) s
i D)jelly
o £

136) Volt x Second is the unit of

coulomb .
HTH
A) Inductanee
Oiched
C) Encray

£

437) Which one of the following m& ;
Spices' 7 =0

rataEd F A B g ey
ST B?

A) Tamil Nadu
IR

C) Gujrat
IEHET

138) The title of 'Gangai Kondan' was adoptes
following Chola King: >

farataTRd # ¥ R oiw T e
e Fr 8
A) Rajaraja |
TATET 1
C) Vijayalaya
ICELIED

139) Loss of water in plants in the fo
qtet 7 e & F9 # e A1 F

A) Guttation
et gz

C) Osmosis
TETT

140) The relcase of which of the

wells helps in ng
Pefafaa & 4 B
Aot & fagEer A HeT
A)Gambusiafish  BICE
C) Snail 4114

e

"




: ﬁnnﬂml Awaronass

e 4 jch state i India hae e 1 .
r‘ﬂ v \ costline
{ j],rpﬁwmﬂm ME‘F

Al -.!..I-_;n.n--hrm

B Andhea Pradesh
MY iy

D] T’H‘I‘lﬂ Nady
ey

e K ilazanatha Temple (Stva Tem
142 aining € ulprores with paintings

;j..la:F‘l

ple) mt Kanch
it
inthe inner w“ﬁ. :.::

,__[_'.ﬂ A e #RT (e #R) Shady
L :1_.31{'1 oA Wm 'ﬂﬁ f. m

ot

-

A) Nara! mhavarman

B) Mahendravarman
TR

Hesas
D) Devavarman
s e

, shower of rain, a ranbow is Seen:

C'li' VIATTNAD

o Tl
143) Al

ey 1 R o A1G, SRS el [GETS 46 87

p)anywhere, irrespective af B_]-“P'Pﬂﬁfﬂ-'-lhc St
he position of the sun '

5 | faadia fear
& g f =R
e ARl

¢)1owards the sun D) even in the absence of

A H TG T

144) Elasticity of demand of luxury gmﬂsm. .
ECurGil ﬁaﬁ&ﬁaﬁrmﬁa’@fﬁﬁ,ﬁ?
A) More than one B}'Lﬁf.il..ﬂﬂ.ﬂnﬂ
o & w A
C)Lero Dj]ﬂw
I FfAT

- ¢ helong to ph sical
145) Which of the following does not pelong o POY

environment?

%mﬁmﬁﬁﬂmﬂaﬁﬁ

A) Hemisphere
e

s 4 ¥

C) Lithosphere
e HeEd

146) The Urop Developmen = :
Inelbs covers whie Progromine of te Ciay
crops ? h of the following groups of
Wt TR W e e wd @0 & aa

A A @ T afifraw ol W aag
e 87

-t ik

A) Tea, Cotion and Rubber  B) Ten, Coffe and Spices
T, F i T A, wmihr i waa

D) Cottan, Jute and

Sugarcanc

e, A W e

C) Jute, Tea and Collee
g, ity &

147) Which of the following income will not be included in
national income calewlation?

PrrsrrarTore 3 O T 300 Y [Ty 3T o A #
aTiTEre AR AT S

A) Individual's income from B
sale of shares

{123y AT A S
= E R R

) Commission income of a
share broker

S aE R AR 8
g

C) Income of a joker ina  D)lncomeof a commercial

circus company artist
TEE ST & I A ST ST ST
g g

148) Both the Tropic of Cancer and the Tropic of Capricom

pass through:
5 g i Fe T e R A WA B ?
A) South America Bj Asia
=fEoh 3T LT
C) Australia " D)Africa
149) Of the following, which one is non-contractual earning?
ErratEy A & F EE FE R
A) Wage B} Profit
e i Gl
C)Rent D) Interest
Eaiel] L :
460) Which of the fllowing can Not ac uﬁ'a'hhﬁ?_ﬁ“ﬂ&ﬁ‘f‘;
ﬁmﬁﬁaﬁﬂwmmﬁmﬂmﬂ TRl
Hecll!
A) Chlorine
FAA
C) Nitrous oxide

AECH HiEHEs




